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Now have a go at the Tricky, Trickier or Trickiest tasks. 
There are challenges too!

image1.png
Mormimq Maths 261120

17 - 9 =

26 + 9 =

6 x 5 =

27 - 9 =

34 + 9 =

67 - 19 =

83 + 19 =

6 x L

8 x 3

9 x4 =

/rnA,L/{/t/L/p/{/L/c,a/t/'L,cm

Tricki

addition, smbiraciion and

Trd .

176 - 29 =

I54 + 29 =

12 x 8 =

7 ~x8 =

2 x 9 =




image2.png
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Complete the calculation.
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There are b rows of 2l
21 + 21 + 21 + 2| =
20 + 20 + 20 + 20 = 80

[+ 1+ 1+ 1= I

Totad =
8L
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True or false? 24 x 2 = 48 we do

20 + 20 = 40
L+l =8
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